Please solve problems as simply as possible with step by step solution without skipping steps and give answer.  Note, some answers are given to confirm.  Explain answers.  
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Answer the following questions.
Choices: True, False.
A. The position of a body in motion changes with time.
Motion and acceleration are not the same quantity.

C. The velocity of an accelerated body changes with time.
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D. The words motion and acceleration can be used inter-
changeably.
E. The speed of an accelerated body changes with time.
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ﬁnswer for Part: 0
True
True
True
False
False

(c5p20) A car traveling at 67 km,/h hits a bridge abutment. A
passenger in the car moves forward a distance of 55 em (with
respect to the road) while being brought to rest by an inflated
air bag. What magnitude of force (assumed constant) acts
on the passenger’s upper torso, which has a mass of 49 kg7
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Answer for Part: 0
1.54E+04 [14961.8066183723,15896.9195320205]
Unit: N

A 32.9 kg boy and a 59.0 kg girl are on the surface of a frozen
lake, 13.5 m apart. Using a rope, the boy exerls a horizontal
4.15 N force on the girl, pulling her toward him. Calculate
the magnitude of the boy’s acceleration.
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Claleulate the direction of the resultant force using the same
sign convention as above in degrees.
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Answer for Part: 18
3.862 [3.6691569427044,4.05538398930486]
Unit: m/s"2
Answer for Part: 19
1.339E+02 [127.211692721914,140.602397218958]

m
¢
N

(c5p24) A 100 kg crate is pushed at constant speed up the
frictionless 28° ramp shown in the figure. What horizontal
force F is required?
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What force is exerted by the ramp on the crate?
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Answer for Part: 11

Answer for Part: 0

1.26E-01 [0.124626139817629,0.127653495440729] Sig 3 1

5.21E+02 [505.284580982383,536.864867293782]
° Unit: N

Unit: m/s"2

Answer for Part: 13

Three forces in the x-y plane act on a 5.3 kg mass: 11.7 N
directed at 67°, 9.8 N directed at 135 °, and 12.2 N directed at
194° . All angles are measured from the positive x-axis, with
positive angles in the Counter-Clockwise direction. Calculate
the magnitude of the acceleration.
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1.11E+03 [1076.28451497811,1143. 65229716425]
Unit: N

(c5p69) A 65 kg circus performer is to slide down a rope that
will snap if the tension exceeds 529 N. ( What happens if the
performer hangs stationary on the rope?) At what magnitude
of acceleration does the performer just avoid breaking the
rope?
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Answer for Part: 0
1.67 [1.61551515151515,1.71648484848485]
Unit: m/s"2





